Trigonometry 7e — Chapter 8, Form B

Chapter 8

Multiple Choice
Identify the choice that best completes the statement or answers the question.

1. Write the expression ~f—36 -~/—25 in terms of i and then simplify.

a. - 30
b, =35
c. 35
d. -4
€. 30

2. Combine the complex numbers.

(5-81)-(2-4i)

a. 4-51
b. 4 -4
c. 3-5¢
d. 3-4i
€. 4+ 5§

3.  Find the product.

(7~ 592

a. -26-72
b. 26 - 70i
c. 26-72i
d. 24 - 72§
e. 24 - 70

4.  Find the product.

| (2+50)2-50)

a. 29 -20¢
b. 29
c. 25
d 27
e. 27 - 20
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' Trigonometry 7e — Chapter 8, Form B

5. Write the complex number in standard form.

8 ccnsﬁﬂ‘sins—Jrr
] 6

~4+4iaf3
—4.f3 + 4
4+ 4303

403 +4i

~4-4iaf3

6.  Use a calculator to help write the complex number in standard form. Round the numbers in your answer

o ao TP

to the nearest hundredth.
10cis5.9

a. 927 -3.78i

b. 9.19 - 3.82{

c. 9.31-3.78i

d. 927 -3.74i

e. 9.31-3.74i

7.  Muitiply. Leave the answer in trigonometric form.

4(cos 20° + is1n 20%) - 7(cos 35° + isin 35°)

a. 28(cos 55° + 15 559)
b. 24(cos 50° + isin50)
c. 28(cos45° + ismn45°)
d. 24(cos 55° + isin55%)
e. 28(cos50° + isin 50°)

8. Write 2y and Z, ij trigonometric form and find their product.

z, = - 1+if3, z, = 1-if3

a, Z2(cos 330° + isin 330%)
. 2(cos 30° + isin 30°)
c. 4{cos 240" + isin 240°%)
d 4{cos 150° + isin 150°%)
e. 4({cos 60° + isinb607)
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Trigonometry 7e — Chapter 8, Form B

9. Use DeMoivre's Theorem to find the following. Write your answer in standard form.
5
{I\E cis %-EE]

-4+ 4
~16403 - 16i
—4+4z‘«\f§
~16- 1643

4+4i

o Ao o

0. Use DeMoivre's Theorem to find the following. Write your answer in standard form.

-+ )

a. 8i

b. ~ 16— 1643
C. — b4

d. - 8- 8iyf3
€. 64

z
11, Find the quotient z—l in standard form.
2

Z) =8+ 8i,zy =4 +4f

a. 2

b. -2
C. -7
d. -2
e. 7

12, Write z; andz, in trigonometric form and then find their quotient.

Z1 =3'\}{E - 33,22 = i

cos330° + isin 330°
cos 120° +#s5in 120°
2 (cos 60° + isin 60°)
2{cos 180° + isin 180°)
cos 240° + 33m 240°

o0 o

537

© 2013 Cengage Learning. All Rights Reserved. May not be ¢opied, scanned, or duplicated, in whole or in part, except for use as permitted in a license diseributed
with a certain product or service or otherwise on a password-protected website for classroom use.




Trigonometry 7e - Chapter 8, Form B

13. Convert complex numbers to trigonometric form and then simplify the expression. Write the answer in

standard form.
(1-9* @)?

-2+ 21
a. -16+ 168
b. -1-i
C. ~-16—- 16§
d. 4— 4
€. —4 + 4§

14. DeMoivre's Theorem can be used to find reciprocals of complex numbers. Recall from algebra that the

-1

reciprocal of x is which can be expressed as X

x

Use this fact, along with DeMoivre's Theorem, to find the reciprocal of the number below.

1-4

& 1,8,
4 4

b -1_1
2 2

c. }.+li
72

d 1B,
3 &

e B 3_1‘__
4 3

15. Find two square roots for the complex number. Write your answer in standard form.

-2+2iq_§-

a. Bri-f -

b. 1+ ifF, -1- if8

c. 2o+ ifZ -2 - if2
d. ~1+ 43, 1- 8

e.

—ﬁ-_i—i,ﬁ—i
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Trigonometry 7e — Chapter 8, Form B

,16.  Find two square roots for the complex number. Write your answer in standard form. -

- 64

a Bi, — 8
b. &4i, — 64i
c 8 — 8

d 8, - B
€. 8i, - 8&i

17.  Find three cube roots for the complex number. Leave your answers in trigonometric form.

27(cos297° + isin 2979)

a. 3cis 97°,3¢is 217°, 3cis 337°
b. 3c1s98°, 3cis 2189, Jcis 338°
c. 3ci899°, 3¢15 219°, Fcis 339°
d. 4¢is97°,4cis217°,4 cis 337°
c. 4is 99°,4 cis 219°, 4 cis 339°

18. Find 4 fourth roots of z= 1, 296[003 2—;; +i sin%]. Write each root in standard form.

14iaf3,~af3 4i-1-2.3, f3 ¢

34 343, -34f3 + 34-3- 343,343 - 3
Nivi-1eiaf3-af3-11-13

3nf3 +3i,-34 3inf3,-3f3 ~ 36 3- 3143

32 4 32,-32 + 302,-32 - 302,302 - 3102

19. Find the 4 fourth roots of |

o an gop

z=c|:ism—j'rﬂ‘sinlm—Jr
0 9
B s E e 2X s X g lX
R T
b. cisz-'— cile cisg3—fr n:isﬁ
36° 157 36 ° 9
C. cis 13n cis 3x cis‘wﬁ-cis 67
36 ° 36 ° 36 ° 36
d. cis 13x cis ilx cis4gﬂ- cis 67 %
J2 7 7 T2 72
e cisE v::isE ciséﬁ n:isl—ﬁE
18 ° g’ 18 ° 9
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Trigonometry 7e — Chapter 8, Form B

20. Graph the ordered pair on a polar coordinate system.

(5. 1sn°)

a. ) S LY . d
b. e.
C.
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Trigonometry 7e — Chapter 8, Form B

21.  Graph the ordered pair on a polar coordinéte system, - .

(4,—21u°)

a,
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Trigonometry 7e — Chapter 8, Form B

22. Convert to rectangular coordinates. Use exact values.

(4

a. (0,9)
b. (, - 8)
c. ©,7)
d. (0,-9)
e. (0, 8)

23. Write the equation with rectangular coordinates.

r="Tcos &

a. % -y?=6x
b. x2+y=nx
c. xz-—y2=’?x
d. x2+y2=ﬁx
¢ x2+y='a"x
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Trigohometry 7e —Chapter 8, Form B _

24.  Convert the equation to polar coordinates and then sketch the. graph.,
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Trigonometry 7e — Chapter 8, Form B

25. Convert the equation to polar coordinates and then sketch the graph.

2 2

X0+ yt =4y

a.
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Trigonometry 7e — Chapter 8, Form B

Chapter 8

Answer Section

MULTIPLE CHOICE
ANS: A PTS: 1
ANS:D PTS: 1
ANS:E PTS: 1
ANS: B PTS: 1
ANS:B PTS: 1
ANS:D PTS: 1
ANS: A PTS: 1
ANS:E PTS: 1
ANS:E PTS: 1
ANS: C PTS: 1
. ANS: A PTS: 1
ANS:E PTS: 1
. ANS:B PTS: 1
ANS: C PTS: 1
. ANS:B PTS: 1
ANS:E PTS: 1
. ANS:C PTS: 1
ANS:D PTS: 1
ANS:E PTS: 1
ANS: A PTS: 1
. ANS:B PTS: 1
. ANS: A PTS: 1
. ANS:B PTS: 1
ANS: C PTS: 1
. ANS:C PTS: 1
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Trigonometry 7e —~ Chapter 8, Form C

Chapter 8

Muitiple Choice
Identify the choice that best completes the statement or answers the question.

1.  Write the expression ~J—36 -~J—16 in terms of i and then simplify.

a. 24
b. -28
c. . 28
d. =24
€. -18

2.  Combine the complex numbers.

(10 - 8i) - 2 - 3i)

a. 8-5i
b. 7-5
c. T+ 6i
d. 8-6i
€. 7 - 6i

3.  Find the product.

(7- 56)2

a. 24 - 70i
b. 26 - 72i
c. -26-72i
d. 24 - 72i
e. 26 - 70i

4.  Find the product.

2+ 702 - Ti)

a. 49
b. 53-28i
c. 51
d. 51 -28i
e, 53
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